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1.  Telome theory was proposed by
(a) Tiegham (b) Jaffrey (¢) Zimmermann (d) Douliot

2. Which of the following is not a heterosporous pteridophyte ?
(a) Azolla (b) Lycopodium (c) Marsilea (d) Selaginella

3.  The telome concept considers that the ancestors of pteridophytes were

(a) Red algae (b) Brown algae (c) Green algae (d) Fungi

4.  Ligule is found in

(a) Lycopodium (b) Selaginella (¢) Marchantia (d) Rhynia

5. Which plant group mostly contributed to the coal deposit of the world ?
(a) Bryophytes (b) Fungi (c) Pteridophytes (d) Lichens

6.  Dispersal of spores in Funeria is helped by
(a) Elater (b) Peristome (¢) Annulus (d) Columella

7.  Who defined ecology as ‘the study of the structure and function of nature’ ?
(a) E. Haeckel (b) Odum (c) Tensley (d) Kreb

8.  Porins are
(a) Protein (b) Fat (c) Carbohydrate (d) Lipids

9.  Eleusine coracana is a
(a) Pulse (b) Finger millet (c) Cereal (d) Oil crop

10. Which toxin is produced by Aspergillus flavus ?
(a) Zearalenome (b) Ochratoxin A (c) Aflatoxin (d) Alternaric acid

11.  Which genus is found as endophytic, phycobiont and biofertilizer ?
(a) Gelidium (b) Nostoc (c) Diatoms (d) Sargassum

12. Enzyme reverse transcriptase is found in
(a) Retroviruses (b) DNA viruses (c) TM.V. (d) Bacteriophages

13.  Which of the following viruses multiply only in plants ?

(a) Bacterial virus (b) Tumor virus (c) Satellite virus (d) Gemini virus

14. Gongrosira stage is found in

(a) Botrydium (b) Tribonema (c) Vaucheria (d) Diatoms
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15. In which of the following epitheca and hypotheca are found ?
(a) Sargassum (b) Ectocarpus (c) Pinnularia (d) Vaucheria

16. A reconstruction of this species was published by Sahni (1932) is
(a) Williamsonia (b) Pinus (c) Ephedra (d) Gnetum

17. Pentoxylae, a new group of Jurassic gymnosperm was proposed by whom ?
(a) Hutton (b) Zimmermann (c) Sitholey & Bose (d) Birbal Sahni

18. Lichens that colonise rocks are called as
(a) Corticolous (b) Terricolous (c) Saxicolous (d) Endolithic

19. Llyod Botanical garden is located in
(a) Shillong (b) Darjeelling (¢) Kohima (d) Imphal

20. The specimen or element chosen by the author as the nomenclatural type is called

(a) Lectotype (b) Paratype (c) Isotype (d) Holotype

21. What term is used for third integument ?
(a) Hilum (b) Pollenin (c) Aril (d) Funicle

22. The thorn and tendrils of Bougainvillea and Cucurbita represent

(a) Homologous organs (b) Analogous organs

(c) Convergent evolution (d) Divergent evolution

23. The causal fungal organism of the red rot disease in sugarcane is

(a) Rhizopus (b) Colletotricum (c) Aspergillus (d) Mucor

24. Which of the following is not the characteristic of a population ?
(a) Natality (b) Mortality (c) Stratification (d) Sex ratio

25. Plant species with a wide range of genetic distribution evolve into a local population is
known as

(a) Ecotype (b) Population (¢) Ecosystem (d) Biome

26. Frederick Griffith became the first to identify bacterial transformation in the year
(a) 1828 (b) 1852 (c) 1944 (d) 1928

27. Collection of living genetic resources such as seeds or tissues that are maintained for the
purpose of plant breeding, preservation and other research uses, are referred as

(a) Seed bank (b) Gene bank (¢) Germplasm bank (d) Herbarium
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A DNA strand ATTGCG nitrogenous base sequence, will have mRNA with

(a) UAACGC (b) ATTGGC (c) UGGCCG (d) ATCGCC
Heterothalism in fungi was discovered by

(a) Pontecorvo and Roper (b) Alexopolous and Mims

(c) Ainsworth (d) A. Blakeslee

Macrandrous and Nannandrous form are found in

(a) Chlamydomonas (b) Vaucheria

(c) Ectocarpus (d) Oedogonium

Who established pure line theory in plant breeding ?

(a) W.Johanson (b) Batson (¢) G.J. Mendel (d) Strasburger
Aneuploidy is

(a) loss of one chromosome. (b) gain of one chromosome.

(c) loss or gain of one chromosome. (d) neither gain or loss of one chromosome.

The granular structure first observed under the electron microscope as dense particles by
George Palade (1955) was known as

(a) Centrosome (b) Ribosomes (c) Plastids (d) Mitochondria

Reserve material in prokaryotic cells are stored in the cytoplasm in which form ?
(a) Basal bodies (b) Inclusion bodies (c) Fimbriae (d) Tubules

Plants change light energy to chemical energy by transferring an electron in an organised
array of pigment molecules and other substances. This pathway was proposed by

(a) Hatch and Slack (b) Malvin Calvin
(c) Joseph Priestley (d) Krebs

The correct sequence of the pathway of water movement in the root is
(a) Epidermis, Cortex, Endodermis, Pericycle, Xylem
(b) Epidermis, Endodermis, Cortex, Pericycle, Xylem
(¢) Endodermis, Cortex, Pericycle, Epidermis, Xylem
(d) Epidermis, Xylem, Cortex, Endodermis, Pericycle

Which of the following is not a micronutrient ?
(a) Manganese (b) Magnesium (c) Molybdenum (d) Zinc

Which of the following is not a nitrogen fixing organism ?
(a) Azotobacter (b) Rhizobium (c) Frankia (d) Alternaria

Which of the following element is not responsible for delayed flowering if their
concentration in plant is low ?

(a) Nitrogen (b) Sulphur (c) Molybdenum (d) Zinc
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Which of the following element is required in the synthesis of auxin ?
(a) Zinc (b) Boron (c) Manganese (d) Magnesium

Which of the following plant growth hormone is required to quickly ripen a fruit ?
(a) Abscisicacid (b) Ethylene (¢) Auxin (d) Gibberellins

Which of the following plant is not the source of drugs obtained from roots ?

(a) Aconitum heterophyllum (b) Chlorophytum borovillianum

(c) Crocus sativus (d) Rauvolfia serpentina

Which of the following plant is not a source of non-alcoholic beverages ?
(a) Camellia sps. (b) Coffea sps. (c) Theobromasps. (d) Anacardium sps.

The term “Linkage” and “Recombination” was coined by
(a) Mendel (b) De Vries (c) Morgan (d) Correns

“A phenomenon which results in alteration of DNA sequences and consequently results in
changes in the genotype and the phenotype of an organism” is called

(a) Genetic disorder (b) Mutation

(c) Dominance (d) Evolution

Who is known as “Father of Ecology” in India ?
(a) M.S. Swaminathan (b) Ramdeo Misra
(¢) Ram Udaar (d) P.D. Sharma

“Dead plant remains such as leaves, bark, flowers and dead remains of animals including
dead matters; constitute the raw materials for decomposition” is called as

(a) Humification (b) Detritus (c) Productivity (d) Decomposition

Which of the following statement is not correct ?
(a) Pyramid of energy is always upright.

(b) Pyramid of biomass in sea is inverted.

(c) Producers belong to the second trophic level.

(d) Natural interconnection of food chain is called as food web.

What is the percentage of Photosynthetically Active Radiation (PAR) in the incident solar
radiation captured by plants ?

(a) 100% (b) 50% () 1-5% (d) 2-10%

How much amount of carbon is fixed annually in the biosphere through photosynthesis ?
(a) 1x10°kg (b) 2x100kg (c) 3x10kg (d) 4x103kg
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The “World summit on sustainable development” was held in the year 2002 at which place ?
(a) Rio de Janeiro, Brazil (b) New Delhi, India

(c) Johannesburg, South Africa (d) Kyoto, Japan

Who wrote the book “Die Natiirlichen Pflanzenfamilien” ?

(a) Hooker (1857) (b) Engler & Prantl (1897)

(c) Robert Brown (1827) (d) Chamberlain (1934)

“Sago” a starch rich food is obtained from

(a) Cycas circinalis (b) Cycas revoluta

(c) Cycas pectinata (d) Cycas siamensis

The gymnosperm in which archegonia is absent

(a) Cycas (b) Pinus

(c) Cedrus (d) Gnetum

Most primitive living vascular plants in the following are

(a) Sphagnum (b) Cycads

(c) Brown algae (d) Fern

Which of the following plant is known as “Quill-Worts” ?

(a) Rhynia (b) Psilotum

(c) Isoetes (d) Marsilea
Which of the following plant is rich source of silica ?

(a) Rhynia (b) Equisetum

(c) Ophioglossum (d) Selaginella
Which of the following is a living fossil plant ?

(a) Sequoia gigantea (b) Ginkgo biloba
(c) Neuropteris decipiens (d) Gnetum montanum

Which one of the following is an example of aquatic bryophytes ?

(a) Riccia fluitans (b) Marchantia Polymorpha
(c) Funaria hygrometica (d) Sphagnum voluvile

Which of the following is not a photobiont partner of lichens ?

(a) Trebouxia sps. (b) Trentepohlia sps.
(c) Heterococcus sps. (d) Ascomycete
Which of the following is known as “Giant Kelp” ?

(a) Fucus sps. (b) Macrocystis sps.
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62. Eyes of vertebrates and cephalopods are
(a) Vestigeal organs (b) Homologous organs
(c) Analogous organs (d) Adaptive radiation

63. Who introduced the term ‘species’ in classification ?
(a) Mayr (b) John Ray (c) Cuvier (d) Linnaeus
64. Wharton’s jelly is called by which of the following name ?
(a) Areolar tissue (b) Adipose tissue (¢) Mucoid tissue (d) Elastin tissue

65. In which of the following protozoans, cilia became fused forming undulating membranes ?
(a) Actinophrys (b) Balantidium (c) Vorticella (d) Euplotes

66. Who stated that “Man originated first as fish” ?
(a) Wallace (b) Anaximander (¢) Empedocles (d) Osborn

67. Who wrote the book ‘Systema Naturae’ ?
(a) Mayr (b) John Ray (c) Cuvier (d) Linnaeus

68. In which cartilage, collagen fibres are found ?
(a) Elastic cartilage(b) Fibro cartilage (c) Hyaline cartilage (d) Calcified cartilage

69. Which of the following is marine, tubicolous and luminescent worm called ‘paddle worm’ ?
(a) Aphrodite (b) Chaetopterus (c¢) Amphitrite (d) Branchiobdella

70. The Hydrocoel is a multipurpose system, meeting the needs of respiration, locomotion,
nutrition, sensory perception etc. To which of the following, it is related with ?

(a) Annelida (b) Poriferia (¢) Echinodermata  (d) Nematoda
71. The type of mouthparts in bed bug is

(a) Biting (b) Piercing and sucking

(¢) Sponging (d) Biting and chewing
72.  Which enzyme is involved in the formation of bones ?

(a) Calcium Kinase (b) Calcinase

(c) Protease (d) Phosphotase

73.  Which toxic substance is released by Plasmodium ?
(a) Morphine (b) Toluin (¢) Haemozoin (d) Tennin

74. Which of the following represented the earliest and true Arthropods ?
(a) Eurypterids (b) Labyrinthodont (c) Trilobites (d) Triarthurus

75. ‘In a bivalve mollusc, the two valves are unequal, left being larger, thick, convex and
attached permanently to the rock. Choose the correct option :
(a) Pinctada (b) Pecten (c) Mytilus (d) Ostrea

76. Which of the following is the largest living bird ?
(a) Rhea (b) Apteryx (c) Struthio (d) Tinamus

77. Which of the following is considered as a ‘Living Fossil” ?
(a) Daphnia (b) Balanus (¢) Limulus (d) Lepas
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78. When did Reptiles dominate the earth ?
(a) Permian Era  (b) Carboniferous Era (c) Paleozoic Era (d) Mesozoic Era

79. To which animal axolotl larva belongs ?
(a) Necturus (b) Ambystoma (¢) Amphiuma (d) Proteus

80. Which cells are involved in the defense mechanism of vertebrates ?
(a) Epithelial cells (b) Cartilage cells (c) White blood cells (d) Nerve cells

81. Who gave the ‘Theory of Mutation’ ?

(a) Darwin (b) De Vries (c) Weismann (d) Cuvier
82. Classification of protozoa is based on

(a) mode of nutrition (b) body covering

(¢) mode of reproduction (d) organs of locomotion

83. Which of the following type of nematocysts secrete a sticky substance used in locomotion
by fastening the tentacles to solid objects ?

(a) Pentrant (b) Volvent (¢) Glutinant (d) Adherant
84. In which of the following, pseudo-stratified ciliated columnar epithelium is found ?
(a) Fallopian tubes (b) Ependyma (c) Alveoli (d) Trachea
85. Which class of Phylum Mollusca shows torsion process ?
(a) Amphineura (b) Scaphopoda (c) Gastropoda (d) Bivalvia
86. Which of the following is a living fossil ?
(a) Gecko (b) Sphenodon (c) Peripatus (d) Archaeopteryx
87. Which of the following is a modified mysis stage, called ‘Glass crab’ ?
(a) Megalopa (b) Phyllosoma (c) Cypris (d) Alima
88. Which of the following is the simplest type of canal system in Porifera ?
(a) Rhagontype (b) Leucon type (c) Ascon type (d) Syconoid type
89. The subcutaneous layer of fat of whale is known as
(a) Blubber (b) Fat gland
(¢) Subcutaneous gland (d) Goblet cells
90. In which of the tissue, acetylcholine is present ?
(a) White fibrous tissue (b) Skeletal tissue
(¢) Nervous tissue (d) Fluid tissue

91. In which Era, the life originated ?
(a) Coenozoic Era (b) Paleozoic Era (¢c) Proterozoic Era  (d) Mesozoic Era

92. Who was the founder of comparative anatomy ?
(a) Cuvier (b) Lamarck (c) Wagel (d) Dubois
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1,0,0,3
A mammal was found with the dental formula : ﬁ Choose the correct option.

(a) Elephant (b) Rat (c) Squirrel (d) Goat

In an adult human-being, true unipolar neurons are not commonly found but they are found
in the mesencephalic nucleus of which of the following ?

(a) 9" cranial nerve (b) 10™ cranial nerve

(c) 5™ cranial nerve (d) 3" cranial nerve

In which of the following fish, the air bladder is bilobed with a short left and long right lobe
opening ventrally into oesophagus by a simple duct ?

(a) Polypterus (b) Protopterus (c) Amia (d) Acipensar

In the first stage of B-oxidation pathway of fatty acid formation of each molecule of Acetyl-
Co-A requires removal of which of the following ?
(a) 8 Hydrogen ions (b) 2 water molecules

(c) 2 pairs of electrons and 2 H* (d) 4 Hydrogen atoms

According to numeral system for international nomenclature of blood coagulation factors,
which factor is placed at number-1V ?
(a) Accelarin (b) Thromboplastin  (c) Calcium (d) Proaccelarin

Histologically, to which of the following, the Haversian canals and Volkman’s canals are
related ?

(a) Femur bone of mammals (b) Ear of mammals

(c) Brain of mammals (d) Spinal cord of mammals

Which of the following may derive upto 90% of their energy requirements from amino-acid
oxidation ?

(a) Herbivores (b) Carnivores (c) Detrivores (d) Frugivores

Select the appropriate a-ketoacid formed after the transamination of Alanine and Aspartate
amino acids :

(a) Pyruvate and phenyl pyruvate (b) Oxaloacetate and pyruvate

(¢) o-Ketoglutarate and oxaloacetate (d) Pyruvate and oxaloacetate

The mechanical efficiency of human heart is higher than that of other muscles. Select the
correct option.

(a) 30% (b) 80% (c) 50% (d) 70%
With which of the following hormones, zinc is always found ?

(a) Paratharmone (b) Glucagon (c) Insulin (d) Adrenalin
Which of the following is also known as Ranikhet disease ?

(a) New castle disease (b) Fowl pox

(c) Tick fever (d) Fowl cholera

Pyridoxine is also known as
(a) VitaminB,, (b) Vitamin B, (c) Vitamin B, (d) Vitamin B
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During the preparatory phase of Glycolysis, what is true about the following reaction, in
terms of ATP ?

Fructose-6-phosphate — Fructose-1-6-diphosphate

(a) 1 ATP produced (b) 1 ATP consumed

(c) 2 ATP consumed (d) 4 ATP produced

What is the optimum pH of the medium for the action of pepsin ?

(a) 1.8-3.5 (b) 6.7-7.0 (c) 46-52 (d) 7.8-8.7

Which of the following is an aquatic soft-shelled turtle ?

(a) Trionyx (b) Chelondina (¢) Macrolemys (d) Cheilus

In which of the following, a pair of Epipubic bones are present in front of pubic symphysis ?
(a) Anapsida (b) Theria (¢) Metatheria (d) Rhynchocephalia
In which of the following, the tactile feathers are found ?

(a) Nocturnal birds (b) Flightless birds

(¢) Aquatic birds (d) Fly catchers

‘Peripatus’ is a connection link in between

(a) Mollusca and Arthropoda (b) Annelida and Platyhelminthes

(¢) Annelida and Arthropoda (d) Annelida and Mollusca

Inner chitinous layer of each trachea of insects is made of spiral thickenings. Choose the

correct option :
(a) Intima (b) Taenidia (c) Intine (d) Taenioles

Which of the following hormone increases reabsorption of sodium ions ?

(a) Aldosterone  (b) Thyroxine (c) Testosterone (d) Estrogen

If in a sample of human blood, the O, content = 19 volume % and the O, capacity = 20
volume %, how much percent saturation of Haemoglobin will be ?

(a) 95% (b) 50% (c) 85% (d) 75%

What is the respective yield of water after the oxidation of 100 gram of fat, carbohydrate
and protein ?

(a) 117,65 and 14 gram (b) 107,60 and 41 gram

(c) 55,107 and 41 gram (d) 141,55 and 17 gram

Thyroxine is the iodinated derivative of which of the following ?

(a) Isoleucine (b) Cysteine (¢) L-Tyrosine (d) Alanine
Mammary glands are modified form of which gland ?

(a) Sebacious gland (b) Tear gland

(¢) Sweat gland (d) Meibomian gland

Myoglobin is of which of the following types ?

(a) Oxygen suppressing protein (b) Carbon dioxide carrying protein
(c) Oxygen storage protein (d) Oxygen carrying protein

The bile pigments are derived from degradation of which of the following ?
(a) Haemoglobin (b) Myoglobin (¢) Thyronine (d) Thrombin

Series-A T AHB-IIB



10s.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

TATSRITATE hl ot sraeen 8, T & ged &, i afirm s g A e @ 7
THeRISI-6-FHIEhHE —> Thefelsl-1-6-SEHIThe

(a) 1AW I (b) 1 TAM. 3T (¢) 2TAR. 3 (d) 4 TAH . ITH
34 H1em i 35 f T (pH) 91 Bt & e X ufem el s g 7

(a) 1.8-3.5 (b) 6.7-7.0 (c) 4.6-52 (d) 7.8-8.7

=1 4 @ 1 STeliT iHe She= A A § 7

(a) T OEISESE (c) Tshiotfirm (d) et

ot 2 o epfereh RRreop TS o5 e U TS SR feeh T g T 2 7

(a) TAfGTET (b) fifer (c) Terefifen (d) TrrRferm
T 0 3 fopmm woeff-ug arfiremenfes 8 2

ORUESIEE] (b) IeAfaEH gaft (c) STefi=r uaft (d) FATS Sherld
ey i T TS Het B

(a) HTTEHRT 3R e & (b) THifeTeT 3 widRfewrefist %

(c) THifeTeT 3R 3nyidier (d) THifeTsT 3R Hiew=ht

1St hl Tceh JaTE! Shl 3T 1eh Td AUATRR HIt TS <ht o1 Bt 8 | et forhed o1
Wﬁ'&ﬂ:

(a) 3= (b) rfifean (c) TS (d) fstes

1 o 9 ot T g Aifead 31T o YH: TN < S@TaT ® ?

(a) TeSIERH (b) uTgUfeRET (¢) TR (d) TESH

HIE T o Th FHA H O, 1 AT = 19 R % TUT O, &HAT = 20 JTFA % &, T ST
fope wiferere wiqed & 2

(a) 95% (b) 50% (c) 85% (d) 75%

100 TTH ST, IehT T o HATFETHTUN o HeTka®d shA3l: T ohl I F9T BT & 7
(a) 117,65 3R 14 7 (b) 107, 60 3TR 41 7

(¢) 55,107 341 7™ (d) 141,55 3R 17 9™

Tgtifare et 8 & ferereht ST g 2 7

(a) SEEREE  (b) Fa=E (¢) TeA-2TATEH (d) Tea

T ot i Ht uf w1 uiEfda ®9 & ?

(a) Toafdrm ot (b) stigaf (c) @t (d) HefEe oy
qrRTlteH e 0 8 ferg TR 1 8 7

(a) AT TS TIEH (b) HTEH STZATFITSS aTEH T

(c) ITerEioH TIEeh T (d) 3TTerEfIoH Hargsh M

. Toxg aofes forer o @ fopaeh Mg A Y= B 8 7

(a) S ORIPESICE] (c) YRR (d) e

AHB-IIB 19 - Series-A



119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

What is the role of cortical nephron ?
(a) Transportation and storage (b) Filtration and reabsorption
(c) Dilution and absorption (d) Filtration and storage

Which of the following hormones is put under the steroids group ?
(a) Estrogen (b) Thyroxine (¢c) Insulin (d) Epinephrine

In Tachardia lacca, the mass emergence is known by which of the following process ?
(a) Swarming (b) Warming (¢) Forming (d) Norming

In one kind of placenta in mammals, villi are arranged in separate tufts, called cotyledons.
Choose the correct option of such type :

(a) Cat (b) Rat (c) Cow (d) Man

In which of the following site, the RBCs are formed ?

(a) Pancreas (b) Bone marrow (¢) Gonad (d) Liver
Pebrine, the most serious disease of silkworms is caused by

(a) Protozoan infection (b) Bacterial infection

(c) Viral infection (d) Fungal infection

Cleavage in frog is

(a) Holoblastic equal (b) Holoblastic unequal

(c) Meroblastic (d) Horizontal

During first maturation division of oogenesis, what is produced ?

(a) First polar body (b) Secondary oocyte

(c) Primary oocyte (d) First polar body and secondary oocyte
The skin epidermis and nervous system develop from which of the following ?

(a) Endoderm (b) Ectoderm (c) Mesoderm (d) Periderm
Which of the following is the genus of a ‘Cloth Moth’ ?

(a) Taenia (b) Galleria (¢) Tinea (d) Plodia

The respiratory organ of the embryo is

(a) Amnion (b) Arachnoid (c) Allantois (d) Yolk sac
Honey contains which of the following percentage of water ?

(a) 19.5% (b) 17.2% (c) 14.3% (d) 18.9%

Which polysaccharide is not excreted or reabsorbed by kidney tubule in human body ?
(a) Amylopectin (b) Inulin (c) Cellulose (d) Pectin

When does embryo became triploblastic ?

(a) During cleavage (b) During blastulation

(c) During gastrulation (d) During organogenesis

Which one of the following is improved measurement of dispersion over mean deviation ?
(a) Correlation coefficient (b) Standard deviation

(¢) Mean (d) Mode

“The Granary Weevil” belongs to which order ?

(a) Cq}ggptera (b) Lepidoptemriw (c) Orthoptera (d) Hymenoptera
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Who is called ‘Father of Comparative Embryology” ?
(a) Robert Owen (b) Karl Ernst Von Baer
(c) Baron Georges Cuvier (d) Balinsky
Folding and hydrogen bonding between neighbouring amino-acids results in the formation
of a rigid and tubular structure called helix. Which of the following is an example of a-Helix ?
(a) Keratin (b) Silk fibroin (c) Collegen (d) Elastin
During embryonic development, which layer forms somites ?
(a) Ectoderm (b) Mesoderm (c) Endoderm (d) Periderm
S.D. . . .
The formula ﬁ % 100 is used to calculate which of the following ?
(a) Coefficient of variations (b) Standard mean
(c) Standard error of mean (d) Mean error
E. coli contains how many polymerases ?
(a) 2 (b) 3 (c) 5 (d) 4
The recombination proteins were first identified in which of the following ?
(a) E.coli (b) Virus (c) Amoeba (d) Hydra
The pyrimidines contain how many rings ?
(a) Single ring (b) No ring (c) Double ring (d) Single twisted ring
The first termination codon discovered by Sydney Brenner was which of the following ?
(a) GGA (b) UGA (c) UAG (d) AGA
Mention from the following, the first developed genetically modified vectors ?
(a) Bacterial plasmids (b) Phasmids
(¢) Cosmids (d) Both (b) and (c)
Two basic features of every relation between variables are which of the following ?
(a) Magnitude and reliability (b) Magnitude and variability
(c) Variability and sharpness (d) Both (b) and (c)
The conditioned stimulus in Pavlovian experiment was
(a) Saliva (b) Meat (c) Bell (d) Sighting of food
Adult Salmon swims towards
(a) Riverine fresh water (b) High carbon dioxide
(c) Both (a) and (b) (d) Concentrated salt water

Monarch butterfly migrates to and fro :
(a) Canada and U.S.A. (b) Peru and Canada
(c) Peruand U.S.A. (d) U.S.A. and Mexico
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The Zoological name of giant honeybee is
(a) Apis indica (b) Apis dorsata (c) Apis florea (d) Apis mellifera
A group of programs that are put into the computer to operate and control its activity, is

known as

(a) Programs (b) Hardware (c) Software (d) RAM
The pearl is secreted by which layer of Oyster ?

(a) Columner epithelium (b) Connective tissue

(c) Ciliated epithelium (d) Mantle epithelium
Transduction is one of the process known for which of the following ?

(a) Transfer of genetic material (b) Storage of genetic material

(c) Diffusion of genetic material (d) Breakdown of genetic material
What is Gynogenesis ?

(a) Where sperm enters the egg. (b) Sperm does not enter the egg.
(c) Sperm enters the egg but degenerates. (d) Sperm fertilizes the egg.

Which of the following is called as ‘laughing death’ ?
(a) Kuru (b) HIV (c) Cancer (d) Hog cholera

The rate of change of direction increases in proportion to the intensity of stimulation, is
depicted by which of the following ?

(a) Orthokinesis  (b) Klinokinesis (c) Menotaxis (d) Tropotaxis
The oriental sore is caused by which of the following ?

(a) Trichomonas (b) Giardia (c) Leishmania (d) Amoeba
Which of the following techniques is used to separate proteins based on molecular mass ?
(a) Chromatography (b) Northern blotting

(c) Southern blotting (d) Western blotting

Which of the following is ‘Tick Fever’ affecting the poultry ?

(a) Leucosis (b) Coryza (c) Spirochaetosis (d) Ricketes
Which part of the cerebrum coordinates learned skilled movements involving muscles ?
(a) Frontal lobe (b) Temporal lobe (c) Parietal lobe (d) Thalamus lobe
How many structural genes are found in Lac operon ?

(a) 3 (b) 4 (c) 2 (d) 5

Which of the following abbreviation is used for ‘Integrated Service Data Network’ ?
(a) NET (b) ISBN (c) ISDN (d) ISSN

Which one of the following is not a measure of variables of samples ?

(a) Range (b) S.E. of means

(¢) S.E. of correlation coefficient (d) S.D. of regression
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The spindle fibres attached to kinetochores in the stage of mitosis is called

(a) Prophase (b) Prometaphase (c) Interphase (d) Telophase
Bentham and Hooker summarised their work in the book

(a) Origin of Species (b) Genera Plantarum

(c) The Evolutionary Biology (d) The Families of Flowering Plants
Glycolysis is also called as

(a) EMP pathway (b) Pentose phosphate pathway

(c) Electron transport pathway (d) Kreb cycle

Who has been called “Darwin” of the 20" century ?
(a) Odum (b) Ernest Mayor (¢) Robert Hooke (d) Stanley

Censer mechanism of seed dispersal is found in which of the following ?
(a) Pinus (b) Papaver (c) Ecballium (d) Caster

Passage cells are present in which layer of ground tissue ?
(a) Cortex (b) Endodermis (c) Pericycle (d) Pith

Which of the following statement is correct regarding decomposition ?
(a) Decomposition largely occurs in absence of oxygen.

(b) Rate of decomposition is slower in lignin rich detritus.

(c) Rate of decomposition is faster in lignin rich detritus.

(d) Rate of decomposition is slower in sugar rich detritus.

Which sequence of events is correct for the generation hybrid ?

(a) Emasculation — Selection — Pollination — Bagging
(b) Selection — Isolation — Emasculation — Pollination — Rebagging
(c) Emasculation — Bagging — Pollination — Selection — Isolation

(d) Selection — Bagging — Emasculation — Pollination

Emasculation should be exercised at which stage of anther development ?
(a) At the time of anthesis (b) After anthesis
(c) Before anthesis (d) At any stage of anthesis

Thermoacidophiles belongs to which group of organisms ?
(a) Eubacteria (b) Cynobacteria (c) Archaebacteria  (d) Mycoplasma

In which of the following capsule wall is 4-6 layered in thickness ?
(a) Riccia (b) Marchantia (c) Pellia (d) Anthoceros

To which order of fossil gymnosperms, medullosa and lyginopteris belong ?
(a) Bennettitales (b) Cordaitales (c) Pteridospermales (d) Pentoxylaes
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Longest archegonial neck is present in which of the following ?

(a) Pinus (b) Cycas (c) Gnetum (d) Ephedra
The type of fossil that allows the study of internal structure of organism is

(a) Impression (b) Petrifaction (c) Compression (d) Diatoms
Usnea and cladonia belong to which category of lichens ?

(a) Foliose (b) Crustose (c) Fruticose (d) Leprose
Which of the following statements about heart wood is incorrect ?

(a) Heart wood does not conduct water.

(b) Heart wood gives mechanical support.

(¢) Heart wood conducts water.

(d) Heart wood is rich in secondary metabolites.

What is the position of centromere in acrocentric chromosome ?
(a) Middle of chromosome

(b) Slightly away from middle of chromosome

(¢) Near the chromosome end

(d) Terminal end of the chromosome

What is true about Ribosomes ?

(a) They are surrounded by single membrane.
(b) They are surrounded by double membrane.
(¢) They are not surrounded by any membrane.
(d) These are composed of DNA and proteins.

The element involved in the functioning of nitrogenase and nitrate reductase enzymes is
(a) Boron (b) Molybdenum (c) Copper (d) Manganese

Deficiency symptoms of N, K, Mg tend to appear first in
(a) younger leaves (b) older leaves
(c) middle age leaves (d) equally in all leaves

Late blight of potato is caused by
(a) Puccinia striformis (b) Phytophthora infestans
(c) Ustilago maydis (d) Taphrina deformans

Ainsworth system of classification applies to which group of organisms ?
(a) Bacteria (b) Fungi (c) Algae (d) Bryophytes

Which group of organisms are not fungi ?
(a) Slime molds (b) Ascomycetes (c¢) Basidiomycetes (d) Deuteromycetes

Wart disease of potato is caused by
(a) Colletotrichum falcatum (b) Synchytrium endobioticum
(¢) Pythium debaryanum (d) Helminthosporium oryzae

What is absent in the cell wall of gram-negative bacteria ?
(a) Lipopolysaccharides (b) Teichoic acids
(c) Peptidoglycan (d) Outer membrane
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187. Which bacteria is involved in retting of jute fibre ?

(a) Clostridium sps. (b) Lactobacillus sps.
(c) Streptomyces sps. (d) Corynbacterium sps.

188. Which of the following indehiscent dry fruits is a one seeded fruit with wing like outgrowth ?
(a) Nut (b) Achene (c) Caryopsis (d) Samara

189. In which family of angiosperm, palea and lemma are found ?
(a) Cucurbitaceae (b) Lamiaceae (c) Poaceae (d) Fabaceae

190. Which type of fruit is present in Apiaceae ?

(a) Cypsela (b) Cremocarp (c) Berry (d) Capsule
191. According to Bentham and Hooker classification, euphorbiaceae is kept under which series ?
(a) Micrembryae (b) Achlamydosporeae (¢) Unisexuales (d) Curvembryae
192. Which of following is botanical name of ‘Hing’ ?
(a) Ferula asafoetida (b) Rubia cordifolia
(c) Rauwolfia serpentina (d) Cinnamomum zeylanicum

193. In Eremurus, which type of endosperm is present ?
(a) Cellular type (b) Nuclear type (c) Helobial type (d) Ruminate type

194. Which types of embryosac is characterised by a normal egg apparatus and single polar
nucleus ?

(a) Oenothera type (b) Peperomiatype (c¢) Phumbago type (d) Adoxa type

195. Malacophily is caused by
(a) Birds (b) Snail (c) Ants (d) Bats

196. Peat is formed by
(a) Rhynia (b) Sphagnum (c) Ephedra (d) Rhizobium

197. In cucurbitaceae, gynoecium is
(a) Bicarpellary  (b) Monocarpellary (c¢) Tricarpellary (d) Polycarpellary

198. Rhizophore, a leafless structure is present in

(a) Riccia (b) Selaginella (c) Pinus (d) Ephedra
199. Wobble hypothesis of genetic code was proposed by

(a) Francis Crick (b) Hugo De Vries  (c) Bateson (d) Watson & Crick
200. Who discovered chemically synthesized oligonucleotides ?

(a) Crick (b) Hargobind Khurana

(c) G.J. Mendel (d) Watson

g&ies-A | 30 | AHB-IIB



187.

188.

189.

190.

191.

192.

193.

194.

19S.

196.

197.

198.

199.

200.

SJE T <h! ST fohdl Sfiamo] gRI BT B 7

(a) Feleaq &f. (b) dREFE T, (¢) WemEfs . (d) siEswdiien o,

Freaferfaa SrwTdl well § @ I O et Teh SISt qeiT ueted beTtiid Jod glar g ?

(a) T (b) THHA (c) it (d) THRI
TSt % fope pot # Uferan S dwT qT ST § 2

(a) FPhaeh  (b) e (c) druEh (d) et
U H ford dE 1 hd TRT AT ?

(a) Tooda (b) shIHTRTd (c) &0 (d) e

oy 3R e ffentor 3 Jwifeue ot fopm Sw & @ mn 7
(a) TERUERT (b)) TFIHTSSIEARY (c) JHeagueH (d) HarsrEt

e d g e o g’ s ameEfas Am g ?

(a) ol TEWITCET (b) HfeRI ISR
(c) Taifewan gufe (d) Trmmm et
e # o T T Yurdy BT} ?

(2) HIR YOI (b) TR P () feeifomet yodiw  (d) & Yoy

YUThIY o I § TR H Teh HTHTT 31U IUHY d Ueh Y hrgeh TR AT & 7
(a) STEMTET  (b) JUUTHAT I&T (c) T 9EY (d) VSTt T&Y

AAhIfthedl o1 b B

(a) ued (b) =vEn (c) i (d) =TTCS

e ST B T

(a) Ui (b) THTH (c) Tyl (d) Tsshiferw
FHCH H&A H TN 1 ThR &

(a) SEHRUT  (b) HHEIHRUEH (c) TTEHRUTKT (d) drefierder
(a) Tefagand (b) e o (c) wrgFH (d) hgrd
AT hig T FIeel TiehedHT fehdeh giRT Sfauifed 8 7

(a) W@ R (b) M S A (c) Seud (d) a1ewd ud foheh
T Gt sfam=fFeered fhad @t ?

(a) T (b) NS GIAT  (c) S.J. A (d) areER

NN : 3 ey



Space For Rough Work / T% ST @ foTu wiig

Series-A 32 ' AHB-IIB



